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QUESTION 1

Express 2/7 as a decimal, with the answer correct to 2 decimal places.
A.0.285

B. 0.29

C.35

D.0.3

Correct Answer: B

QUESTION 2
Precipitation (inches)
Date Albany Coral Bay Bunbury
6/1 0.01 0.02 0.02
6/2 0.25 0.35 0.00
6/3 0.55 0.75 0.20
6/4 0.00 0.45 0.10
6/5 0.90 1.01 0.50
6/6 2.00 2.15 1.90
6/7 0.95 1.05 1.15

How much more rain did Albany receive than Bunbury on the third of the month?
A. 0.30 inches
B. 0.25 inches
C. 0.35inches
D. 0.55 inches

Correct Answer: C

QUESTION 3

A pasta salad was chilled in the refrigerator at 35°F overnight for 9 hours. The temperature of the pasta dish dropped
from 86°F to 38°F.
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What was the average rate of cooling per hour?
A. (0.532°%)/hr

B. (5.3%)/hr

C. (4.8°)/hr

D. (5.15°)/hr

Correct Answer: B

QUESTION 4

Estimate the value of 30/0.049 correct to 1 significant figure.
A. 610

B. 612.2

C. 600

D. 612

Correct Answer: C

QUESTION 5

John, Lucy and Emma share 60 pencils in the ratio 4/5/6. How many pencils does Lucy receive?
A. 24

B. 16

C.3

D. 20

Correct Answer: D
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